Answer Sheet No.

Sig. of Invigilator.

MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) In an ordered pair (a, b) .a is called .

A Abscissa B. Ordinate C. Quadrant D. Plane
(i)  Whatwill be the value of x,if (x~2, 1)=(-5, —1) .

A 3 B. -3 C. 1 D. None of these
(iii) fVx, yzeR x=yand y=z=>x=z, thenitiscalled property.

A Reflexive B. Symmetric C. Transitive D. Trichotomy
(iv)  The speed of lightis 3x10"cms™ . Its speed in ms™' is .

A. 3x10° B. 3x10" e 3x10° D.  3xl10°
(v) In 1620 AD developed an antilogarithm table.

A Jobst Burgi B. Al-Khawarizmi C. Henry Briggs D. John Napier

(vi) If x=4v\[1—7 , then l=
A —4+17 B 4+:17 c. -4-17 Db 4-17

p .3 1
iy 2x' 457+ - isa

A. Monomial B. Binomial C. Trinomial D. Non-Polynomial
i) @ —b'=(a-b)( )
A, a’-ab+b* B. a’ +ab+b* C. a+b D. a-b

1 2
(ix) If A =[ :‘ then its transpose is

2 4
-1 2 1 2 -4 2 4 2
A. B. C. D
2 -4 2 4 -2 1 -2 1
3 2
{x) If matrix is singular, then x =
x 4
A 3 B. 6 C. 4 D. None of these
(xi) were the pioneers of geometry.
A. Greeks B. Muslims C. Egyptians D. Europeans
(xii) There can pass through one point.
A. Two lines B. Three lines
C. Infinite number of lines B One line |
(xii)  The medians of a triangle intersect each other in the ratio
A 1:3 B. 1:2 C. 121 D. 3:2
(xiv)  Construction of triangle is possible when sides in cm are
A. 55,11 B. 10, 3,6 C. 5.3,5 D. 2,3, 6
(xv)  If two medians of a triangle are congruent, then the triangle will be triangle.
A. Equilateral B. Isosceles c. Scalene D. Right-angled

For Examiner’s use only:

Total Marks: E]
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MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:
Q.3
Q.4
Q.5

SECTION - B (Marks 36)

Attempt any TWELVE parts. All parts carry equal marks. (12x3=136)
(i) Write the power set of {+, —, %, +}
(i) Draw the Venn Diagrams in general when 4 and B are:
a. Disjoint sets
b. Qverlapping sets
G B is a subset of 4
2°.3".4% )5
(iii) Simplity —————1=
82.9°.6°. 25°

(iv) If log2=0.3010, log3=0.4771 and log5=0.6990, then find the value of log 30 without
using log table and calculator.

(v) Find the value of x from log,, x =?

182 mn’ )
Vi Simpli _
(vi) plify ( clm'n ]
(vi)  Forwhatvalue of p the polynomial 3x’ — 7x* —~9x+ p becomes exactly divisible by x—3.
(viilj  Find the value of x+y when x—y =35 and xy = 24

()  Findthe valueof x’ +)* +2° —3xyz if x* + )y +2" =77, x+y+z=15

) Factorize m" —n"
(x)  Find H.CF. of 15x* —23x* +4 and 10x’ —12x> 42 by division method.

. 2a —4
(xii) Find the value of @ when 4= L 5 and |A‘ =16

(xii)  Use Cramer's rule to solve the following equations:

0.8x—-0.6y=1
0.6x+08y=2
44 _ )
(xiv)  Simplify ?x X — X T = Xy
¥ =2xy+p*  x(x+y) x

(xv)  Find the square root of dx*+12x’ +25x* +24x +16
i) i U={12,3,4————, 10}, 4={2,4, 6} and B ={1,2,3,4,5,6, 7}, then show that

(AUB) =4 NB°

(xvii) If x=4- J—l_i . then find the values of:

1 1 1
a. — b. x+— e: x——
X x b

38x39
(xviii) Evaluate 33_4%ﬂ with the help of logarithms.

SECTION — C (Marks 24)
Attempt any THREE questions. All questions carry equal marks.
Prove that an exterior angle of a triangle is greater in measure than either of its opposite interior angles.
Prove that if two angles of a triangle are congruent, then the sides opposite to them are also congruent.
Prove that if three or more paralle! lines make segments congruent on one transversal, they also make

(3x8=24)

congruent segments on any other transversal.

Draw the angle bisectors of A ABC in which _AE =6cm, BC =6em and mZA4=060°
{ Also write steps of construction ).

—18A 1209 (L) —-



[- o o) Ol (a8l

60?3-.““.54,‘;‘&‘)'\&&5 5‘-‘63240 3

280 sl el S agd man. ol p u,uunpu.susgr.:umﬁbum”cs,ym”am gl
uiugc-husmy:ﬁh&-uu‘}«&‘;;ﬁsdadbn-uycwu-nﬁ;uuupynaﬂ
il gk el g ) wila Sl g

(36 saad JS)p g3 muas
(12x3=36) o UeSg paad S e ol alad . S da gl (12)00k s (98 22 i Jl g
= L LTI ()
(e U aa i Bl 4 S nSan il JISSY Cas (i)
ORI AL I LW Cue oSl e CuweS jibe g ol
253042 5t e
e ::_-'-5-'5,._. S 111
82.9% 6%.25 {iii)
SIS ol Julf agi AR5l 65 g8 log5=0.6990 sl log3=0.4771 ¢ log2= 03010 & (iv)
S psles Caad (S og30 sy S Jleaiud
-2 ol 3
oh logy, x=—= S —aSagdaa il Sy (V)
18/m°n° ' " :
Tr——— ot v
(820 s
T8 Sl 9 asnali g g ex — 3 abes 3x° —7x? —9x 4 p Alan S Cuai (W€ Sp (vid)
S oslaaiad S xiy i xy=24 ) x—y=5 K (viii)
-t P4yt 42 =77 98 xty4z=15 &&ﬁejhﬂu&ﬁé x" +y3 +2 =3z (ix)
CieSe (%)
Cﬁﬂse}hdaﬁww_)ma&m‘—&mx -12x? +2_)_3" 15x -23x* +4  (xi)
2a -4 &
- | A|=16 L3l A= [ i 5] i S aglas Gl S g (xii)
0.8x—-0.6p=1
U —w nly Xii
0.6x+08y=2 e o i S s ()
xt -yt x-y  x*+y° 3
’_—B-‘S paisae (XIV
x2—2xy+y2xx(x ry) X ey
4x' +12x7 +25x +24x +16 ;xS agles 0 (xv)
Sl fawp = (1234567} o) A={246},U={1234, .10} & (xvi)
(AUB) = AN B“:AS
S pslae e é\—* ST x+% ; %333* x=4-15 A (xvii)
: *i";"“' S o e 330 S 25 € (i)
(24 sl &) g mias
(3x8=24) (- o) pad S Qo) gl S Ja Jl g G i (A 85)
130 e Dlaie s Sl 1 as (e gl 5 Bao callin il gl ) Sy om IS Bl & _n K eull 13 el ) g
- b U
_uﬁc:.jameu“tm,al_an_'uéglju,s&mﬁjljjaémuﬁﬁnsﬁg._\sqﬁ 1 sl ) g
o5 55 il ladad (Plia gy el ok Sl o ghai 530 sie 00 e 05 L 0 8 NS —in€ il 35 e ) g
.éuﬁu&%dﬁm&dﬁiL)&JJ@&S
-2 mZA=60" 53 AB=6cm,BC=6cm L s ainS ciali S eyl S AABC 16840 J g

'C:jldﬁ ol Jae CJ‘JA:):_L"n
——1SA 1208 (L) -~



Roll No. r \ ‘ ‘ i | l Answer Sheet No. "VS

Sig. of Candidate. Sig. of Invigilator.

...........................................................................................................................................................................

MATHEMATICS SSC-I
SECTION — A (Marks 15)

Time allowed: 20 Minutes

NOTE:- Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i)

(ii)

(iii)

(iv)
v)

(vi)

{vil)

(viii)

(ix)

()

(xii)

(xiil)

(xiv)

(xv)

Ang®

A. U B. ¢ 4] A D. A
{(x+y)"}! = | .
A x+y B. 5 C. 0 D. 1
The standard form of 2.35%107 is .
A. 235 B. 235 C. 0.235 D. 0.0235
The degree of polynomial 6x* +y° +3x"y+xy* is .
A. 4 B. 5 C. B’ D. 3
will be added to complete the square of x™ +4xy .
A 457 B. 257 G 4y? D. None of these
H.C.F.of (a+ h); and a* +2ab+0" is g
A. a+b B. (a+b)2 C. (a+b) D. 1
What will be the factorization of 1+4ab—4a® —b*?
A (1-2a+b)(1+2a+b) B. (1+2a+b)(1-2a+b)
C. (1-2a+b)(1+2a—b) D. (1-2a-b)(1-2a+b)
The idea of matrices was introduced by in 1857.
A Arther Kally B. Cramer C. Al-Khwarizmi  D. Henry Briggs
There can be obtuse angle(s) in a triangle.
A. 1 B. 2 C. 3 D. None of these
If in a quadrilateral two sides are parallel and two sides are non-parallel then it is called a
A. Square B. Rectangle C. Trapezium D. Parallelogram
If a transversal cuts two parallel lines, the pairs of corresponding angles so formed are ____ in number.
A 1 B. 2 C. 3 D. 4
Three medians of a triangle are at a point lying within the triangle.
A. Equal B. Congruent C. Concurrent D. None of these
Set of even numbers and set of odd numbers are sets.
A Overlapping  B. Disjoint C. Equal D. None of these
X+ % isa
A Polynomial B. Binomial C. Trinomial D. Non-Polynomial

| b

-+ T D

v

In the above figure if m£1=110" then m£L6= .
A. 90° B. 110° C. 100° D. 70°

For Examiner’'s use only:

Total Marks: 1

¢

Marks Obtained:
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MATHEMATICS SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:

Q.4
Q.5

Q.6

SECTION — B (Marks 36)

Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
) 1 4={2,3,4,5}, B={3,5,11,15} thenfind A~ B, B-Aand ANB

Gy I 4={1,2,3}, B={-4,-3,-2,-1} thenfind AxB, BxA and AxA4
(i)  Factorize x*+64y"

64 a’b®
i Simpli 3f——
& sty \lesc"d‘?

L Na+2—+a-2
(v) Simplify —————
va+2+vJa-2

(vi) Find the value of x from log,, 8 =

b |

(vii) If P(y):71—3+2y2—lthenﬂnd P(-2)
2y

43m+3m2 % 10},:: % 9n+'i

(viii)  Simpli - - -
P fy lSJH. " 2.“11 % 82m+_vnl
. ‘ _ (8.97)" x(1.059)’
(ix) Evaluate with the help of logarithms T
() Find the value of 8xy(x’ +y") when x+y=6and x~y=4

(xi) Use formula to find the product of (\/; o ﬁ](\g— \[;) (x+y)

(xii)  Factorize a'—2a’b+2ab’—b"

(xili)  Find the value of @’ +b° +¢' —3abc when a+b+c=7. ab+bc+ca=12

(xiv) Find LCMof a’ +64 and a' 16
ov) If A=x'—5x-14, H=x-7, L=x"-10x"+11x+70 thenfind B.

a-b a +ab+h’
a'-b' a+ b

. I 5@ 35
(xvii) If = , then find the value of p and ¢q.
3 pll7? 10

(xvii) Use matrices to solve:

(xvi)  Simplify

2x-5y=1 (Do not use C Rule)
o not use Cramer’s Rule
3x+4y=36
‘ : SECTION — C {Marks 24)
Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Prove that if a transversal intersects two coplanar lines such that the pair of alternate angles are congruent,
then the lines are parallel.

Prove that the sum of the measures of three angles of a triangle is 180"
Prove that any point on the right bisector of a line segment is equidistant from its end points.

Draw medians of A XYZ inwhich mZX =60°, m£Y =45" and XY =63cm. { Also write steps
of construction ).
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